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Run 4402 quartetwise, PosHalAccO/NSamplas

=== Laser O -—
Eniries: Ti232
Mean: 99377 «- 00015
Sl Doy 0LA207T 4 00001

=== Lager OFF ---
Entrie=: 48551
Mean: 75442 «- 00019
Sid Dhey: 04109 4~ 00073

Run 4402 quartetwize, Diffs)

=== Laser O -—

Eniries: TE222
Mean: -0.0727 «/- 000011
Sid Dhey: 03209 - 00008

=== Laser OFF ---
Entries: 48561
Mean: -0.0017 «- 00012
Sid Dhey: 02837 - 00009

Run 4402 quartetwise, Asyms0

=== Laser ON -—
Entries: TE222
Mean: -14.9891 +/- 0.2362
Sid Dhev: GB.O629 4/~ L1ET0

=== Laser OFF ---
Entries: 46551
Mean: -0.3481 «- 0.2T0F
Sid Dhev: 5840440 +0- 0L1914
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Run 4402 quartetwize, NegHalAcc)/NSamplas0

JII|III|III|III|III|III|III|III|III|III|III|III|

=== Laser O -—-

Enlries: TH2I2
Wean: 10000 04 /- 0000715
Sbd Dew: 04315 b 00071

=== Lager OFF ---
Entrie=: 468551
Mean: 75459 «/- 0.00149
Sid Dev: 047109 &~ 00073

Run 4402 quartatwize, Sums0

JII|III|III|III|III|III|III|III|III|III|III|III

=== Laser O -—-

Enlries: TE222
Mean: 19,9481 - 000029
Sid Dev: 0U7STE - 00020

== Laser OFF ---
Entries: 468551
Mean: 16.0900 &+~ 00036
Sid Dev: 07713 & 00025
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Run 4402 quartetwise, PosHelAccd

— Lasar O —
Enln: FEN
Man: 21T AT - IX0 T e
S Dre: BEII5 94T 4~ THSAIOISE

— Lassar OFF —
Enbnia: 8541
Main: TITANM S48 +- 1288, 7
S Dre: AFCHILERES +/- THIEST IO

—_
Le~]

Run 4402 quartatwise, Diffsd

— Lasar O —
Cnlni: FE5
Main: 2350418078 «~ TIILETIE
0 Dre: BEITITE 162 +/- THEATTES

— L OFF —
tnbnea: $8531
Maan: 200456 == 21371

25 Dwre: A3EE41. TOHE +/- 13231216

] 1 1 1 1 JlC1|:".

Run 4402 quartetwize, Asyms4

=== Laser ON -—
Entries: TE222
Mean: -14 9880 +/- 0.15748
Sid Dev: 441460 4~ L1116

=== Laser OFF ---
Entries: 46551
Mean: 01345 +- 0.1426
Sid Dhev: 307740 40~ 01009
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Run 4402 quartetwise, NegHalAcc4

— Ly 0% —

Erlnea: VR

Mann: 2135608 000 - 2385153 E
25 Dire: BE1ARLNII2 +- TEFZSTET

— Lussar OFF —
Erln: 55351
Main: TITPE1IELDEME +- 2384, 741 8
Sd (Dire: AFEME FIEE +'- TH 155505

1 1 ] =10

Run 4402 quartetwize, Sumsd

— Ly 0% —
Crlnea: TR
Msan: 43881184641 - 4072 35852
S5d Dwre: 1135713313 = 2ETAG1E4

— Lumar OFF —
Crln: 45531
Main: 2IESESNETIT - 4047151
S0d (Drire: 03200 E24T +- . TEE

1 ] e e
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Run 4402 quartetwise, Asyms USbg?

A llal A I Hls,

=== Laser O -—
Eniries: Ti232
Mean: 00025 « - 0,000
Sbd Dew: 0.5531 & 0.0074

=== Lager OFF ---
Entrie=: 48551
Mean: 00020 + - 0.0 26
Sid Dhey: 05537 - 00078

i HFl.-.
0.s

1.5 i

Run 4402 quartetwize, Asyms DSbgl

=== Laser O -—

Eniries: TE222
Mean: -0.0006 & /- 00009
Sid Dhey: 0U1157 +~ D003

=== Laser OFF ---
Entries: 48561
Mean: 00005 +- 0.0005
Sid Dey: L1160 - 00004

Run 4402 quartetwise, Asyms Horiz Finger

=== Laser ON -—

Entries: TE222
Mean: -0.0007 «/- 0LO0DE
Sid Dey: 0.XFAT - 00006

=== Laser OFF ---
Entries: 46551
Mean: 0.0014 «- 0.0011
Sid Drey: 0LZETT 4 D.0008
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Run 4402 quartetwise, Asyms USbg2

=== Laser O -—-

Enlries: TH2I2
Mean: -0.0009 «- D000
Sid Dhev: 02527 & 00006

=== Lager OFF ---
Entrie=: 468551
Mean: -0.0003 «- 00012
Sid Dey: 02532 - 00000

1 1.5 a 0.5

Run 4402 quartetwise, Asyms DSbg2

=== Laser O -—-

Enlries: TE222
Mean: -0.0002 & 00004
Sid Dhev: 0OI0FT & 00003

== Laser OFF ---
Entries: 468551
Mean: 00003 +- 0.0005
Sid Dev: 01077 &~ 00004

Run 4402 quartetwize, Asyms Vert Finger

=== Laser O -—-

Enlries: TE222
Mean: -0.0008 & - 00006
Sid Dev: 01784 - 00005

== Laser OFF ---
Entries: 468551
Mean: -0.0000 «- O000E
Sid Dev: 01802 - 0.0006
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Run 4402 quartetwize, posHI vs time
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Run 4402 gquartetwize, negHO vs time
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Run 4402 guartetwize, summ vs time
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Run 4402 quartetwise, posH4 vs time
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Run 4402 quartetwize, posH4 vs time
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Run 4402 gquartetwize, negH4 vs time
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Run 4402 guartetwize, summd vs time
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Run 4402 quartetwise, posH4 vs time
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Run 4402 quartetwize, USbg2 ve time

Run 4402 quartetwize, USbg1 ve time
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Run 4402 quartetwize, DSbg2 ve time

Run 4402 quartetwize, DSbg1 ve time
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Run 4402 quaretwise, horizFing vs tima

Run 4402 quaretwizse, variFing vs timea
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